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Tdienelf GEyem 3R va-us OX qrHiehs e ot

Candidate must write first his / her Roll No. on the question paper
compulsorily.

|t T g wE a2

All the questions are compulsory.

Tk T T IR G Tg I-Yfeaent | & fore)

Write the answer to each question in the given answer-book only.
o uwl & reafier @us §, 39 A%t & I v w & ford|

For questions having more than one part, the answers to those parts are to
be written together in continuity.

TY-UA o &< 9 SIS TR | et gehr R e / o / ferienwm g w =
o U9 ! TE WH|

If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.

9 ATk 21 | 23 | saites farered g

There are internal choice in Q. No. 21 to 23.
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SECTION - A

FgloreRedl Te:
1) Freausi & s o wd foremen w=m wR sTRyfere | fafau -
Multiple Choice Question -

Write the correct option of answers of the following questions in the answer

book-

i) gfg = 9 FW AT A H1 3T E — [1]
(3) Fostfem (3) " AEerREH
(W) ufsdfien st () sgfer
Example of hormone which inhibits growth is -
(A) Gibberelin (B) Cytokinin
(C) Abscisic acid (D) Insulin

ii) witres w1 S qm RR 6 Gfeafd e dqe & forg seRent 7 [1]
(37) vmfEasR (F) FmiETeh
(W) srgmfeaa (3) wemwfETH
Which part of brain is responsible for maintaining the posture and balance
of body?
(A) Cerebrum (B) Fore - brain
(C) Cerebellum (D) Mid-brain
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iii) RrYy St SFeFT 1 STel S grm - [1]

(31) e, g

(3) gifar, drew

(|) e, dren

(8) Fiaw, &

External feature of genotype RrYy will be-
(A) Round, Green

(B) Wrinkled, Yellow

(C) Round, Yellow

(D) Wrinkled, Green

iv) I % TRl Eid il IaEt 2| [1]
(31) 9= It
(@) uge
(|) wHFen
(3) RS
Example of renewable source of energy is

(A) Wind energy

(B) Petrol
(C) Coal
(D) Wood
S-07-Science [ Turn Over
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V) USRAE § e TR hi YU Hehed l § —
(31) wfeA (@) =i
(®) wuwd (3) T2
The old concept of water harvesting in Rajasthan is -
(A) Khadin (B) Bundhis
(C) Bandharas (D) Kulh

vi) feu o fom d, whron (x) <t A= gRm

AT

mufaa femm wEfa e
30° [=x

1 /) NS | LA SP) | /

(&) 60° @) 90°
(@) 45° (® 30°

In the given figure, the value of angle (x) will be :

Normal

Incident ray Reflected ray
30° | _x

L7777 7777777777777

(A) 60° (B) 90°
(C) 45° (D) 30°
S-07-Science
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vii) uftarfiest 6t uforr Fafm e 2 [1]
(31) srehron ifea (@) = | e g
(W) Yael  ATHR (FEH) (3) forecia om &t smepfa
The muscles of the iris controls
(A) Optic nerves (B) Focal length of the eye lens
(C) Size of pupil (D) Shape of crystalline lens
viii) kwh fera ifees ot =6t urres 22 [1]
(31) vifeR () farega it
(@) Ham (@) ==
Which physical quantity has;kwh as its unit?
(A) power (B) electric-energy
(C) momentum (D). force
i) sim ¥ Frem & Hef fu o fem afwer d i (y) F gera 1]
Al = .
N %
v il i
@ o—
¥
+ —
(1) reerie (@) Fh
(@) foega &= (8) el
Identify the device (y) in the given electric circuit related to ohm's law
+ | = 2
| | s
v + M
@ )
y
+ —
(A) voltmeter (B) key
(C) electriccell (D) ammeter
S-07-Science [ Turn Over
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X) aATeRuT H 9idt % HW hrell Ui dgd <t ufskan € - [1]
(31) oA (3) wHewo
(®) Forepemiferan (3) fferemm
The process of black coating on silver in environment is -
(A) Reduction (B) Corrosion
(C) Rancidity (D) Double displacement
xi) Al, Fe aen Zn &t stfferamsficrar o @@t sgar 50 2 - [1]
(37) Fe<Zn< Al (&) Fe < Al <Zn
(@) Al < Fe <Zn (@) Al <Zn < Fe
The correct ascending order of .reactivity of Al, Fe and Zn is -
(A) Fe <Zn<Al (B)"Fe < Al <Zn
(C) Al<Fe<Zn (D) Al'< Zn < Fe

xii) CH,COOH+CH{-CH,OH. ——==_. [A] + H,O Sutiga st 4 =ifires [A] § -
[1]
(1) CH,-CH,-O-CH,-CHj
(@) CH,—-CH,-COQCH,
(@) H—?—O—CHZ—CHZ—CH3
Q)
(@) CH3—§—O—CH2—CH3
Q)
CH,COOH+CH,-CH,OH _—_2¢4_. [A] + H,O Compound [A] in above
reaction is -
(A) CH,-CH -O-CH-CH,
(B) CH,—~CH,-COOCH,
(@) H—E—O—CHZ—CHZ—CH3
Q)
(D) CH3—§—O—CH2—CH3
Q)

S-07-Science
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2) s U™l A gfd ik -
Fill in the blank places -

i) wmHAMuwsIEHIMe@ed=m ... &gd 2l [1]

The saliva contains an enzyme called salivary

ii) wek TagA &1 9 I8 g 7 39 TeR S |t i SnIaivie 9 § S WY %

........... a2l [1]
Advantage of vegetative propagation 1 that-all plants produced by this are
genetically to the parent plant:

iil) uarel S SifereR WehH gRT ST @1 S 2, Ll * g 2l [1]

Substances that are decomposed by biological processes are called

iv) Ta® & T YAl B U a2l [1]
Like poles of magnet with each other.
v) Terent o sufem st s iR A L 2l [1]

Chemical name of acid present in vinegar is
vi) Y STTed Aol HiER STTad | SURedd qedl ol T ... 2 [1]

Number of elements present in third period of modern periodic table are

S-07-Science 1203 [ Turn Over
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3) rfocTgwRIeae T3 (J9AI i TR Teh I1eg A1 U Ufed | feiram))

Very short answer type question (Answer the question in one word or in one
line.)

i) e S fRen @ st Srafata Faba s 2? [1]

Which mechanism regulates the action of a hormone?

ii) wgEEA g & ATt Tk S @t A fafan) [1]

Write name of an organism that exhibits multiple fission.

iii) SiraTet S o ITANT | FH dTeil Uk g1+ iRam| [1]

Write one disadvantage of using fossil fuels.

iv) UIRas & SASiaHeeh o1 Ueh 3aTgI01 Gifeig) [1]

Give one example of-abiotic component of ecosystem.

V) @ ¥ifaes I P = 5Q @ Q = 8 x 10* Q X m o Teiehl i oiramg 3Teft A
W P a Q @ @a uW fefau) [1]

Write the corresponding values of two physical quantities P and Q for
which the length of conductor P = 5Q and Q = 8 x 10™* Q x m are reduced
to half.

vi) T JerhiE & [T U — ER i Afdese i gl i ? [1]

Why two magnetic field lines do not intersect to each other?

S-07-Science
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vii) foreht ferega emramd aftforent & ofiR ual Sk ol Sarehia & el @ uehid A %
foru o= =) [1]

Draw diagram to show lines of magnetic field inside and around a current

carrying solenoid.

viii) et siftfseen it afvnfya fifkm) [1]

Define neutralisation reaction.

ix) syl smad fem ffem) [1]

Write modern periodicdaw.

x) CuO+H, ~m™ ,Cu+ HO
Iqdterd fifsren | stualE| 81 et sitrerres w6t W fafau) [1]
CuO + H, Bt Cu+HO

Write the name of reactant reduced in above reaction.

Xi) ITEEH, F e Hifgaw # @ =8 TR uged 1 am feilan) [1]

Write name of hardest substance among iodine, diamond and sodium.

xii) o it e fig T Rafm iR ]

Draw electron dot structure of methane.
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G s - 9

SECTION -B

TYSTIHS TH-T9 W& 04 ¥ 16 & I Iy # foilag | (w1 dimn 50 w11)

Short answer type question-Write the answers of question number 04 to 16 in
answer book (Word limit 50 words)

4)

5)

6)

7)

8)

9)

W9 TR Wi aRWTNG it [2]

Define life processes.

TShICT Yo7 Tl URHTYA SHITTC 721 3Heh @1 IaTeX0l fetfiam) [1+V2+Y5=2]

Define unisexual-flower and write two examples of it.

FfTehT TR URRTERUTE 3 SHA0T oh1 ATHIIRA For SFTEU) [2]

Draw a labelled diagram-of the-germination‘of pollengrains-on the stigma.

uaterur & fafirst geehi % o Sl % TaTg sl §HESU) [2]

Explain the flow of energy between various components of the environment.

i) o\ e < aiwmn i)
ii) @l % UIA-ga gUUT & ®U | TgeR e guut st A fetfau)

[1+1=2]
1)  Define magnification of lens.

11)  Write name of spherical mirror used as rear-view mirror in vehicles.

i) forga RverR S aitem §im
i) S % aom Frm w snera fed @ gl & T e

[1+1=2]
1)  Define electric potential difference.

i1) Write names of any two devices based on Joule's law of heating.

S-07-Science
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11
VTt hA § T2 T TRl o FTIAH o T hl SIeUA hifTu| [2]

Derive the formula for the combination of three resistors connected in series.

11) e ferega uftaen # wmra: forga afes (Suskun) it TaR (UTvd) EEeE | ol wiigd @ 2

12)

13)

[2]
Why are the household electric circuits, the electric appliances (instruments)
connected in parallel combination?

i) AT o amEE (It @) fem felad)
ii) ferega JadE SRur A ufenfva fike)

[1+1=2]
1)  Write Fleming's left-hand rule.
11) Define electromagnetic induction.
Wi e s < aftfeg <Rl [1+1=2]

Define roasting and calcination.

14) TrefoRem sfirertent o 1 TAHTE hl TETAHS STHIHRATS % Hgeta THIRUT faae -

[1+1=2]
i) Na
ii) 443K amumE w |g H SO,
Write the balanced equations of chemical reactions of ethanol with following
reagents -
1) Na
ii) Concentrated H,SO, at 443K temperature

15) wrgq i e weem @i k@ Fik) [2]

Draw the micelle structure of soap.

16) =Ieiga & 3w fgra s TweEu| [2]

Explain Newland's law of octaves.
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@ g - |

SECTION - C
@ IS THE-I G 17 | 20 * IW Swgfern § foReag | (st i 100 w1sg)

Long answer type question-Write the answers of question number 17 to 20 in
answer book (Word limit 100 words)

17) 2AUSIE | Ffed EHIA R AT G201 31 i feilkau| [1+2=3]

Write the name and two functions of the hermone secreted by ovaries.

18) THSIA Ud THEY 3T ! URHINA Rl [1V2+1V2=3]

Define homologous and analogous organs.

19) i) o fenfeuma == udia 214 2 2 TwzEaA
i) WM % Goha (Frret) el @1 % & 2id 22

[2+1=3]
1)  Why do stars seem to twinkle? Explain.
i1) Why are the danger signals red in colour?
20) Frafefaa @ A T &l Uk ISTE0T T THATET - [1V2+1V2=3]
i) oS etttk
i) forem arfufmen

Explain the following by giving one example of each -
1)  Combination reaction

11) Decomposition reaction

S-07-Science
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SECTION -D

fFeraTers gga-TwR W 21 @ 23 & W Iwygfee | fafae (wsg Wi 250 i)

Essay type question-Write the answers of question number 21 to 23 in answer
book (Word limit 250 words)

21) i)
ii)

iii)

ii)

iif)

TEE yaEH it uReTa FifTu)
HHE YEH 9 & ARI—HFT Skl THSEL
T v A iR Fo s
[1+2+1=4]
Define aerobic respiration.
Explain air - passage of human respiratory system.
Draw a labelled diagram of human respiratory system.
3rar/OR
ITeR W iy i)
v % e § sy T < gfve @ e
UG & UTEH o (3MERATA) hl T=AT Tt AR = S-130)
[1+2+1=4]
Define digestion.
Explain role of pancreatic juice in the digestion of food.

Draw a labelled diagram of the structure of human alimentary canal.
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22)

23) i

i)

14
Teh 3{ade qUUT ¥ Ufafera st a1 29t <kt fertur femt sea wiates uen forar saes wienm
(F) w feera A

Afg Tk TMera qUut Sl JEhal Breat 14 cm § @ 39eh Wishd g8 71 it
[2+2=4]

Draw ray diagram for image formation by concave mirror when the object
is placed at its focus (F).

If the radius of curvature of a spherical mirror is 14 cm then find its focal
length.

grgEn/OR

Teh 30t o8 © ufafera st 51 goTiA 6t foon femt ammgd, siafes o F| aen 2F ) wea
feman

afg Uk | 6t & +2.5 D 8, dt SR wiehE gl 71 i
[2+2=4]

Draw ray diagram for image formation by convex lens when the object is
placed between F, and2F,.

If the power of a lensis + 2.5 D, then find its focal length.

Tl Tk 1 IS U 39TeNUT feafam)

T3 F U H FEASTSHTRATSE T8 i Taifed oA W IR [A] 1 99q—37aeid sl g,
T2 saw STcaftes U | SHIeSIZ3eTEs 1 ol Tdiigd fordn S @t ues Wit § feesitar
uered [B] sat 2 | [A] & [B] & temafaes g3t aun ffa wvamafes siftfsranen o oo
feftam)

[1+3=4]
Write any one example of olfactory indicator.

White precipitate of compound [A] is formed on passing carbondioxide
gas in lime water, if excess quantity of the carbondioxide is passed in it
then a water soluble compound [B] is formed. Write chemical formulae of
[A] & [B] and equations of chemical reactions involved.

S-07-Science
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gtgat/OR

i) 7€ 9 & pH wm fefam)

ii) Wfeam FEHE & WA FTESFANE 370 i afufsren | s [A] s 2 | [A]
TR 9 ot Hgd B | [A] o Teita faeem # o yanfga w0 w sfeaw gegieanss
T 2 | [A] o TEmEfEes A qen ffga st sttufrnst o arftemor fefan)

[1+3=4]
1)  Write pH value of pure water.

i1) Compound [A] is formed by the reaction of sodium carbonate with
hydrochloric acid. [A] is also called as common salt. Sodiumhydroxide is
formed on passing electricity in aqueous_solution of [A]. Write chemical
name of [A] and equations of Chemical reactions involved.

a6 36 38
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